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Colour management for output linearization of a 9 step grey scale Colour management for output linearization of a 9 step grey scale
W 1,007 '+ (dash-star) coordinates to reach 120,100 W 1,007 * (dash-star) coordinates to reach 1,00, 11'00'1]0091‘00
o the linearized output with the real ) the linearized output with the real
W output] " - W* output| . :
W outpu] display reflection in office room; output W* outpu] display reflection in office room; , output
OUIPUL jighter (positiv P) output start UL jighter (positiv P) output 075,058 start
0,75 0,751 W™ output = [W¥input] %% 3 real
) — ) - — —inverse
W* output = [Wrinput] 1% W output = [W¥input] %0 og® e
=W* output =W* output v
0,50 0,50 980 ‘
*' (star-dash) coordinates . *" (star-dash) coordinates
of real output with real 0,25,0,3%® of real output with real
display reflection in office room: ’ 080,035 display reflection in office room;
0,25 darker (negativ N) output 0,25 darker (negativ N) output
W* output = [W¥input] +%°
W¥input = rgb* (=0, 0,125,0.250..,0875, 1) 0,00, 000, W¥input = rgb* (=0, 0,125,0.250...0875, 1)
No.o 0,00, 0,00 Nooo 0,00, 0,00 0,00, 0,00
0,0 0,25 0,50 0,75 1,00 W N 0,0 0,25 0,50 0,75 1,00 W
Gen60-3n Gen61-an

Three, 5 and 9 colour steps for visual evaluation
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NOOw  NO8w  N1é6w NOOw  NO4w

0 50 100

9en60-5n, Test samples: 3, 5 and 9 colour steps, greu=0,500, ex
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Three, 5 and 9 colour steps for visual evaluation

NOOw  NO8w  Ni16w NOOw  NO4w
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0

djacent and separate colour samples for intervall scalin
Gamma values 1 (start), 1,5 (real) and 0,667 (inverse); surrounds U=NO8w un
M v ) T

0, 125, 250, 375, 500, 625, 750,

875, 1000
BIBRCKOMOw BIBHCK MG i

Witatew

Ni2w  Ni6w NOOw  NO2w

75 100 (] 12
0, 44, 125, 229, 353, 494, 649, 818, 1000
BIBECK 000w BIBHCK NW6w AMItEtWY

N16w

75

NOOw  NO2w

L*1uBLog,u =50 log(Y /5Yy) +50,Yn=

N14w  N16w

gd=N04w

, Yu=20, Yyy=100
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